
解答
以下の変数を導入する。

a1 =
ω1 + ω2

2
t, a2 =

ω1 − ω2

2
t (1)

b1 =
k1 + k2

2
x, b2 =

k1 − k2
2

x (2)

以下のように式変形する。

E = E1 + E2

= E0 sin(ω1t− k1x) + E0 sin(ω2t− k2x)

= E0

[
sinω1 cos k1x− cosω1 sin k1x+ sinω2 cos k2x− cosω2 sin k2x

]

= E0

[
sin(a1 + a2) cos(b1 + b2)− cos(a1 + a2) sin(b1 + b2)

+ sin(a1 − a2) cos(b1 − b2)− cos(a1 − a2) sin(b1 − b2)

]

= E0

[
(sin a1 cos a2 + cos a1 sin a2)(cos b1 cos b2 − sin b1 sin b2)

−(cos a1 cos a2 − sin a1 sin a2)(sin b1 cos b2 + cos b1 sin b2)

+(sin a1 cos a2 − cos a1 sin a2)(cos b1 cos b2 + sin b1 sin b2)

−(cos a1 cos a2 + sin a1 sin a2)(sin b1 cos b2 − cos b1 sin b2)

]

= 2E0

[
sin a1 cos a2 cos b1 cos b2 − cos a1 sin a2 sin b1 sin b2

− cos a1 cos a2 sin b1 cos b2 + sin a1 sin a2 cos b1 sin b2

]

= 2E0

[
sin a1 cos b1 cos a2 cos b2 − cos a1 sin b1 sin a2 sin b2

− cos a1 sin b1 cos a2 cos b2 + sin a1 cos b1 sin a2 sin b2

]
= 2E0(sin a1 cos b1 − cos a1 sin b1)(cos a2 cos b2 + sin a2 sin b2)

= 2E0 sin(a1 − b1) cos(a2 − b2) (3)

これで示せたことになる。
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